TotalMarks: Class:9th Time:....

Test:Chemistry

Attempt ......... questions

! Modern periodic table consist of : _‘LJ‘& J’fb .fj’w el
a. Two blocks b. Three blocks a. /JKLL» b. /.:u/l}:gjf
c.Four blocks d. Five blocks &, /‘f/l}t/la d. /“‘/U'ék

2 Electronegativity of fluorine is: < ,;fé‘, YRR
a. 4 b.3.5 a. 4 b.3.5
c.2.1 d.3 c.2.1 d.3

3 Transition elements are: . ”'“,,’ ﬁ By
a. All gases b. All metals i ,ﬁfﬂ’ b. }:rV»
c. All non-metals d. All metalloids C. ke o FL? d. 75 b ru;

4 Which one of the following elements is not t‘bgguﬁ(uﬁ',’gﬁ J/L':Lf;{',il,»?[uﬁw
found in normal period:
a. Boron b. Helium . o] b. (:1“}
c. Carbon d. Nitrogen c.oi/b d. S AL

5 Ionization energy of sodium is: _c_gf./'lu%’/'tffd/(iﬁr
a.377 kJ/mol b. 403 KJ/mol a. 377 k)bl b. 403 KJ/mol
¢. 419 KJ/mol d. 496 KJ/mol c. 419" mol d. 496 KJ/mol

6 Electronegativity of Carbon is: 5 ’j,é ;

- o NS K

a.2 b. 1 a.2 BT A
c.2.6 d. 4 c.2.6 d.4

7 The atomic Radii of the elements ingeriodic table UJ % _flf’l Z ot Jf‘ J Lz

a. Do not change form left to right in aperioda. L)"U'WJ/V u’b;u’tu’ﬂc/‘ ..fl
b. Decrease from top to bottem im the group b. u*L/ﬁ/ ic/;lu" .A// .0
c. Increase from left to rightin'a period C. u*&/u’b:,u"Lu”’,b/ L

d. Increase from top to bottom in a group } -uj’&4éa4ﬂ s b?,;/ Vgl
8 How many blocks are there in modern periodic S Jf 1t x - Jrf ng Ao
table?
B3 b.4 a.3 b.4
c.5 d. 6 (e d.6
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